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\ S

, 1 7 , 6 Céa
) ( 150 m)
1 Coa D1 D2 D3 D4 D5 w
A B1 B2 B3 w D1 1 2 4 3 5 |0.4273
B1 1 1 3 0.428 6 D2 V2 1 2 2 3 |0.2360
B2 1 1 3 0.428 6 D3 14 2 1 12 2 |o0.1100
B3 13 1/3 1 0.142 8 D4 3 12 2 1 2 |o0.1539
Amx=3,Cl=0,RI=0.514 9,CR=0 D5 1/5 1/3 1/2 1/2 1 0.072 8
2 B1 Ama =5.067 1,Cl =0.016 775 ,RI =1.118 5,CR=0.015
B1 C1 c2 c3 c4 w 7 Céb
c1 1 3 U3 5 0.2356 ( 150 m)
c2 13 1 79 2 0.082 8 Céb D1 D2 D3 D4 D5 w
Cc3 3 9 1 9 0.629 7 D1 1 5 1/2 1/3 2 0.160 4
c4 1/5 1/ 2 1/9 1 0.052 0 D2 1/5 1 17 1/9 1/3 0.037 1
Amax = 4.048 8,C1 =0.048 8,RI =0.893 1,CR=0.018 D3 2 7 1 vz 3 |0.2660
3 c1l D4 3 9 2 1 5 |0.4454
cl D1 D2 D3 D4 D5 W D5 12 3 13 15 1 |0.0012
D1 1 3 2 2 12 |o.1506 Ams=5.047 2,C1 =0.011 8,RI =1.118 5,CR=0.01
D2 3 1 5 5 1 |o0.0898 1.3.2
D3 12 15 1 1 3 |o0.0827
D4 12 15 1 1 3 |[0.0827 8 9
D5 2 1 3 3 1 |0.2041 8
A max =5.037 ,Cl =0.009 25 ,RI =1.118 5,CR=0. 008 27 ( 150 m)
4 Cc3 B1 B2 B3
- b1 D2 D3 D4 D5 W 0.4286 | 0.4286 | 0.1428
b1 1 s 1 5 7 lo.17a1 DI | 0.1716 | 0.3934 | 0.0963 | 0.2559 2
D2 5 1 5 9 9 losos D2 | 0.4188 | 0.2141 | 0.0678 | 0.2809 1
D3 1 s 1 5 2 lo.17a1 D3 | 0.1607 | 0.1385 | 0.1875 | 0.1650 3
D4 Us U9 Us 1 3 loosia D4 | 0.0834 | 0.1850 | 0.2074 | 0.154 7 4
D5 17 19 U7 U3 1 loosoo D5 | 0.0949 | 0.0690 | 0.4410 | 0.1435 5
Amx =5.3385,C1 =0.084 6 ,RI =1.118 5,CR=0.076 9
5 c5 ( 150 m)
c5 D1 D2 D3 D4 D5 w Bl B2 B3
D1 1 2 12 1 3 |o0.156 2 0.4286 | 0.4286 | 0.1428
D2 Y2 1 s Y2 > loosio DI | 0.1716 | 0.1599 | 0.0963 | 0.1658 4
D3 2 5 1 3 7 loasrs D2 | 0.4188 | 0.0401 | 0.0678 | 0.196 4 3
D4 1 2 12 1 3 |oao D3 | 0.1607 | 0.3150 | 0.2074 | 0.2343 1
D5 V3 12 U7 V3 1 looas D4 | 0.0834 | 0.4001 | 0.1875 | 0.233 4 2
A e =5.108 6,CI =0.027 15 ,RI =1.118 5,CR=0. 024 3 DS | 0.0949 | 0.0851 | 0.4410 [0.1601| 5
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